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Use lattice multiplication to solve each problem.

Lattice 3 by 2

Math www.CommonCoreSheets.com

Name:

Answers

5nbt5



1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
868 × 52 =

8 6 8
4

1

3

1

4

1

1 3 6
5

4
5

2
6

0

2

0

6

0

2)
188 × 52 =

1 8 8
0

0

4

1

4

1

7 7 6
9

0
5

2
2

5

6

0

6

0

3)
829 × 76 =

8 2 9
5

4

1

1

6

5

0 0 4
3

6
7

6
8

6

2

4

4

3

4)
648 × 51 =

6 4 8
3

0

2

0

4

0

0 4 8
3

3
5

1
6

0

4

0

8

0

5)
854 × 38 =

8 5 4
2

6

1

4

1

3

4 5 2
2

3
3

8
4

4

0

5

2

2

6)
451 × 32 =

4 5 1
1

0

1

1

0

0

4 3 2
4

1
3

2
8

2

0

5

2

3

7)
192 × 55 =

1 9 2
0

0

4

4

1

1

5 6 0
0

1
5

5
5

5

5

5

0

0

8)
707 × 96 =

7 0 7
6

4

0

0

6

4

8 7 2
7

6
9

6
2

3

0

0

2

3

9)
990 × 12 =

9 9 0
0

1

0

1

0

0

8 8 0
1

1
1

2
8

9

8

9

0

0

10)
750 × 12 =

7 5 0
0

1

0

1

0

0

0 0 0
9

0
1

2
4

7

0

5

0

0

11)
769 × 67 =

7 6 9
4

4

3

4

5

6

5 2 3
1

5
6

7
9

2

2

6

3

4

12)
303 × 45 =

3 0 3
1

1

0

0

1

1

6 3 5
3

1
4

5
5

2

0

0

5

2

1. 45,136

2. 9,776

3. 63,004

4. 33,048

5. 32,452

6. 14,432

7. 10,560

8. 67,872

9. 11,880

10. 9,000

11. 51,523

12. 13,635

     

Use lattice multiplication to solve each problem.

Lattice 3 by 2

Math www.CommonCoreSheets.com

Name:

Answers

5nbt5

Answer Key


	Worksheet
	Answer Key

